Vi

—- 19.00 -
18.312 REF ™ MICRO VIDEO JACK
465C463AC DESIGNATION STRIPS (4
iAot 401N421 SCREWS, M3 x 0.5 (48) ? RS THIS SR
FRONT PANEL 4014403 (12) , M5 X 0. 402C306 MTG SCREWS (12 0.500 REF
0.343 REF #4-24 SCREWS TIGHTEN 2.61 TO 2.50 INCH LB TORQUE (12) MICRO VIDEO JACKS
| SEE TABLE
il
2.61 oo .
il
> ¥ f )
| b
1.25 465C4627A COVERS (2)
4017102 (2) 465A002
SCREW #10-32 INSERT 48 POSITION oS0 MARKING SIS (2) — | | 0344 REF =017
SHIPPED ASSEMBLED
- 16.63
010L286 (47)
INSULATING STICKER
0.09 —+ SEE NOTE 1
465J001AX
/ CABLE SUPPORT
NO STICKER
6.66 THIS END
$0.31 — | | PART | VIDEO JACK
PART NUMBER | 25\ | pART NUMBER DESCRIPTION
MMVP48K2FP B NONE PANEL NO JACKS
K\ // MMVP48K275T B 17J8001 (48) | NORMALLED, TERMINATED
Y N MMVP48K2NT B 17J8002 (48) | NORMALLED, NON-TERMINATED
- 1740 _ | [MMVP48K2N75T| B 17J8003 (48) | NON-NORMALED, TERMINATED
' MMVP48K2NNT B 17J8004 (48) | NON-NORMALLED, NON-TERMINATED
NOTES: C STAR SYMBOL DENOTES CRITICAL DIMENSION T SITCHGRAET o, KD 1 RELEASED ON & CONFIDENTIAL BASIS FOR ENTFIOATION PURPOSES ONLY.
S S/
1. INSULATING STICKERS ARE STUCK ONTO JACK HOUSINGS ] AUL'L“;ﬁASESNS?J'L*SEﬁY,L"CSHEESSPEC'F'ED 1€ WIDTH MOLT LBSM TEMPER
BETWEEN EACH JACK. THE LAST JACK DOES NOT HAVE AN :
INSULATING STICKER ON THE OUTER SURFACE. T IREE PLACE DECIMALS :8 8(])5 FINISH MATERIAL
2. K271X HARDWARE KIT (401U105251 SCREWS (4)) SHIPPED WITH JACKFIELD. AL DIA, CONCENTRIC WITHIN 0.005 TR, FIRST USED ON s%AZLE o
3. THIS PRODUCT IS RoHS COMPLIANT. B 28271 01721 PC | TR | 2 R R o e e e e DATEDRAWN| B | CHKD | APVD @WDD@[@@E}@GD
A 27735 7-22-16 | TO | TJK | 3.REMOVE ALL BURRS 7-18-11 EB TO TJK
' 8-8-16 8-8-16 SHEET 1 OF 1
REV ECO NUMBER DATE BY |APVD NAME MICRO VIDEO JACK PART No. REV
REVISIONS DO NOT SCALE DRAWING 1.5 RU PATCHBAY, RoHs | MMVP48K2_SERIES
P SolidWorks CAD File routina(148) (112) (38) () () () () Q




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3


